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ประชากร และกลุ่มตัวอย่าง 
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            ก�$������	��!  (�'�ก� �&ก#'��
����
��ก���
��������������	� �!���"�� �����ก������	��


�����
���� ����������
 ���ก�� �����ก!��������#$%���!"� �&'����	�+!��'��9
#����%)�0��6� ��� �!
ก�$������	��! ก�%
�
�����������
����ก�:�	��' �&�� �! Yamane ��!�
,   
 

��ก�&��       2Ne1
Nn
+

=  

 
 )�0��  n =  ������6�0� �������	��!�
���(�'��กก��#����% 
    e  =   #��#���#��)#�0����
��&'����	�'�!ก��6�� +,��� 

  
��ก������	#��,!�
,)��ก��6��#�������#���)�0��50��
� 95 % :�	�6'�
#��#���#��)#�0��� �! 

ก�$������	��!�
�  0.05  ��!��,���(�' ��� �!ก�$������	��! ��!�
, 
 



 

 

 
38

 

     2)1,284(0.051
1,284n

+
=  

 
 
 
 
 
 
 ��!��,�  �+!(�'ก��6��  ��� �!ก�$������	��!)
G� �&ก#'��
����
��ก���
��������������	�  
 �!���"��  �����ก������	��
�����
���� ����������
 ���ก�� �����ก!��������#$%���!"�  �

������ 305 #� 
 3. การสุ่มตัวอย่าง 
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การทดลองเครื�องมือ 

 ��กก��(�'��'�!������5�� (�'���������5��(
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,ก���)ก3� '��&����! ��'��������)#���6�6�#��#���)�0������ (Reliability) 

 �!������5���'�	ก��6�#�����
�����9�l���mn� (α - Coefficient) :�	��'�&�� �! #�����# 
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��
��ก"%��ก�')#
	!�
���*+ก"� ������ 30  ��	 ��'�����������6�#��
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การเกบ็รวบรวมข้อมูล 
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การใช้สถิติวเิคราะห์ข้อมูล 
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